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QUESTION 1

The architect for a large enterprise is tasked with reviewing a proposed design created by a service partner.

Which design elements are expected to be detailed within the physical design section of the documentation?

A. A design diagram illustrating the configuration and specific attributes, such as IP addresses

B. A list of requirements, constraints, and risks

C. A solution architecture diagram with the components and data flow

D. An entity relationship diagram describing upstream and downstream dependencies for specific service components

Correct Answer: B

QUESTION 2

An architect is designing a new vSphere cluster. The requirement is to provide a total of 96 CPU cores and
1.5 TB RAM across all hosts.

The following information has been provided:

Two different physical hardware profiles are available for the ESXi hosts in the cluster.

Profile 1: 16 CPU cores and 256 GB RAM

Profile 2: 32 CPU cores and 512 GB RAM

Profile 2 is twice as expensive to purchase as Profile 1.

Which two aspects should the architect consider when selecting the hardware profile? (Choose two.)
A. The manufacturer and model of the CPUs in the hosts

B. The amount of capacity available for failover of virtual machines within the cluster

C. The downtime allowed for virtual machines that will be running within the cluster

D. The cost to procure and maintain the hardware

E. The number of virtual machines that will be running within the cluster

Correct Answer: BE
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QUESTION 3

An architect is tasked with designing a greenfield VMware software-defined data center (SDDC) solution
that will be used to deliver a private cloud service for a customer.

During the initial meeting with the service owner and business sponsor, the customer has provided the
following information to help inform the design:

The solution must initially support the concurrent running of 300 production and 600 development virtual
machines.

The production environment should be delivered across two geographically dispersed data centers.

The development environment must be vSphere-based but does not have to be deployed on-premises.
The two data centers are connected to each other through multiple diversely routed, high bandwidth and
low latency links.

The customer\\'s server hardware standard document states that all virtual infrastructure hosts must be
based on blade architecture only.

The service owner has said that is important to ensure that neither the availability target of 99.5% nor the
resource capacity is affected when the operations team completes maintenance activities, such as the
monthly software patching and ad-hoc hardware break/fix.

All virtual machine backups must be completed using the existing backup service.

The recovery time objective (RTO) for the service is four hours.

The recovery point objective (RPO) of the service is 24 hours.

Given the information from the customer, which two would be classified as assumptions within the design? (Choose
two.)

A. The backup service will store data in a secure facility

B. The backup service has sufficient capacity for the new requirements

C. The customer will update their hardware standard to support rack mount servers

D. All virtual machines will be deployed with the same resource profile for production and development
E. The clusters will have a minimum redundancy of N+1

Correct Answer: AC
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QUESTION 4

An architect is finalizing the design for a new vSphere platform based on the following information:

All Windows virtual machines will be hosted on a dedicated cluster for licensing purposes.

All Linux virtual machines will be hosted on a dedicated cluster for licensing purposes.

All management virtual machines will be hosted on a dedicated cluster.

A total of ten physical sites will be used to host virtual machines.

In the event of one physical datacenter becoming unavailable, the manageability of the virtual
infrastructure in the remaining data centers should not be impacted.

Access to configure the management virtual machines via vCenter Server must be controlled through the
management Active Directory domain.

Access to configure the Windows and Linux virtual machines must be controlled through the resource
Active Directory domain.

The management and resource Active Directory domains are part of separate Active Directory forests and
do not have any trusts between them.

The design will use Active Directory with Integrated Windows Authentication.

How should the architect document the vCenter Server configuration for this design?

A. Deploy a vCenter server for the management cluster. Deploy a vCenter Server for all remaining clusters. Create a
shared SSO domain for each physical site.

B. Deploy a vCenter Server for the management cluster. Deploy a vCenter Server for all remaining clusters. Create a
shared SSO domain across all physical sites.

C. Deploy a vCenter Server for the management cluster with a dedicated SSO domain. Deploy a vCenter Server for all
remaining clusters and use a dedicated SSO domain for each physical site.

D. Deploy a vCenter Server for the management cluster with a dedicated SSO domain. Deploy a vCenter Server for all
remaining clusters and use a dedicated SSO domain into a single physical site.

Correct Answer: B

QUESTION 5

An architect is preparing a design for a customer. Based on requirements, the architect recommends an HCI-based
infrastructure with all-flash architecture. During the assessment, it is confirmed that the network throughput generated
by virtual machines does not exceed 150 Mb/s.

What is the minimum number and type of network adapters in each server that the architect can recommend to ensure
requirements are met and there is no single point of failure?
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A. Two 1 GbE network adapters per server
B. Four 1 GbE network adapters per server
C. Four 10 GbE network adapters per server D. Two 10 GbE network adapters per server

Correct Answer: C
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